Monday
[bookmark: _GoBack]L.I:- To be able to convert units of measuring and apply to problem solving.
I will be successful if..
· I can multiply and divide by 10,100,1000.
· I can annotate the question.
· [image: ][image: ]I can recall key facts.
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Souvenir hoodies have
been ordered and the
measurements from
Portugal have arrived,
but the printer needs
them in imperial.
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The coach hire company in Portugal will be bringing the children to the school via a
ferry from Spain. They have calculated the journey will take 34  hours of driving.
They three coaches booked and for insurance purposes need to know the total number
of hours their three drivers will be driving (in days) for the entire journey there and.
back.

2. Calculate the total amount of driving time in days (to the nearest half day), for the
trip to England and the return trip to Portugal.
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5. The headteacher is checking parking at the visit venues and has compiled a list of
the parking spaces available at each place of interest.

The Portuguese school have confirmed their coaches will be 12m long.

Tick which venues can accommodate the coaches?

Museum Seaside | Country Park | Shopping Mall | Theme Park
Space in feet

Maximum
Space in metres

The online map, which you are using to plan routes between trips, has highlighted
some bridges and tunnels with restrictions.
The fully loaded bus weighs 14,998kq and is 644cm tall.
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The coach travel company require some more information to give their full quote.
The distance from the Portuguese school to the British school is 2,193km.

Your Headteacher estimates the planned trips, while the Portugese children are
visiting, will be another 55 miles of journey distance.

3. Calculate the full distance in miles. Give your answer to 2 decimal places.

4. With diesel costing £1.20 per litre and each bus running at around
40 miles to the gallon, how much is the fuel bill for one bus likely to
be? Use the ditance rounded to the nearest mile. Round to 2 decimal places where necessary





